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1. Introduction

value of the structure itself

probabilistic 

optimisation of the bearing capacity and reliability

MCS of trusses is 

such a set in which, if only one truss is reliable, the 

whole set of trusses is reliable [ ].
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Table 1.

2 3 4 5 6 7 8 9 12 16

v = 0.06

%

1.0865

8.7

1.1248

12.5

1.1477

14.8

1.1633

16.3

1.1748

17.5

1.1837

18.4

1.1909

19.1

1.1969

19.7

1.2101

21.0

1.2215

22.2

v = 0.08

%

1.1279

12.8

1.1846

18.5

1.2184

21.8

1.2414

24.1

1.2585

25.9

1.2717

27.2

1.2824

28.2

1.2919

29.1

1.3107

31.1

1.3276

32.8

v = 0.09

%

1.1522 1.2197 1.2599 1.2873

28.7

1.3076

30.8

1.3233

32.3

1.3360 1.3465

34.7

1.3697

37.0

1.3898

39.0

v = 0.10

%

1.1795

18.0

1.2590

25.9

1.3065

30.7

1.3388

33.9

1.3627

36.3

1.3829

38.3

1.3962

39.6

1.4086

40.9

1.4360

43.6

1.4597

46.0
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Table 2.
k

4 6 9 12 16

v = 0.06

%

1.086

8.6

1.1018

10.2

1.1146

11.5

1.1223

12.2

1.1289

12.9

v = 0.08

%

1.1216

12.2

1.1439

14.4

1.1621

16.2

1.1730

17.3

1.1824

18.2

v = 0.10

%

1.1618

16.2

1.1916

19.2

1.2158

21.6

1.2303

23.0

1.2428

24.3

w

w
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in halls, in which a large 

number of trusses or girders are adequately coupled 

with bracings in accordance with Figure 2 c, d, e, it 

is possible to dimension the elements of those girders 

and trusses without the risk of lowering the bearing 

capacity and reliability of the covering to below RC2 

class, which is recommended by the standard 
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